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      Total Marks: 50


Note: 

There are three sections in this paper i.e section – A , B and C. attempt section A on the 


same paper and return it to the superintendent with in the given time. Cutting, overwriting 
and use of pencil is not allowed. Identification mark will lead to UFM case. Mobile 
phone is not allowed in the examination hall. 
Time:

20 Minutes



(Section -A)



      Marks: 10
Q1.  

Choose the correct answer. 








i) (10)10 = ( ?)2 



a) 11102
b) 10102
c) 10112       d) 11012  
ii) (17)8   = (?)2  



a) 11112 
b) 0.012 
c) 10012        d) 10002
iii) (1b)16 = (?)8 



a) (43)8 
b)(43)8 
c) (403)8      d) (304)8
iv) 35 percent of 500 is 
 

a) 157.

b) 174

c) 175

d) 147
v) If a profit decrease from 175000/- to 150000/- then percentage decrease is 


a) 14.28%

b) 14.82 

c) 15.50 

d) 16.60 
vi) Length for the class 50-60 is 
  
a) 11
 
b) 55      
c) 9        
d) 10 
vii) Sub divided circles is also called             a) histogram   
b) ogive
 c) sector    d) pictogram
viii) If for a series Mean is 10 and Median is 15 then mode for the same series is 

a) 25


b) 20 
 

c) 24

          d) 30 
ix) In any series P75 is equal to  

a) Mdn 

  b) Q3


c) 24


d) D7  
x) Geometric mean for 8, 27 and 64 is given by 
a) 22


b) 23


c) 24


d) 25
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Marks: 40
(Section – B)



Marks: - 20


Note: - 
Attempt any five parts from this section. Each part carries four marks.  
Q.No.2: - 

    i)
Convert (2345)16 = (?) 8 

    ii) 
Divide  (1000011)2 by 10002 
iii) A man had Rs. 34500/- he spent 29.5% of it how much did he save. 
iv) A salesman is paid a commission of 5% on sales after charging his commission. Calculate his commission if he sold merchandise worth to Rs. 12480.

   v) 
Describe the importance of statistics in business. 


   vi) 
Calculate the Median from the given series .  




19, 23, 11, 9, 18, 26, 29, 33, 41, 21, 34 and 30

 vii) 
Compute the Harmonic mean for the following series. 
	x
	5
	7
	9
	13
	15
	17
	19
	23

	f
	7
	5
	3
	12
	19
	21
	24
	30


Section – C 



Marks: - 20
Note: - 
Attempt any two questions from the following questions. Each carry equal marks.  

Q.No.3: - 
Simplify the following. 







(5+5)

 i)

[image: image1.wmf](2F.B1)16 = (?)2 

 ii) 
10001112 + 11110002 – 1011012 
Q.4: - i)
A firm earned profit for three years as under 





(5+5)


2006 
Rs
370000/-



2007 
Rs 
462500/-



2008 
Rs 
393125/- 



Calculate percentage increase in profit from 2006 to 2007 and percentage decrease 
from 2007 to 2008. 

ii) 
The following values relates to the number of members in various families prepare a 

frequency table having 5 classes. 
	5
	7
	8
	9
	6
	10
	12
	8

	10
	3
	4
	7
	12
	7
	9
	3

	2
	1
	5
	9
	8
	11
	12
	6

	15
	14
	7
	8
	6
	9
	6
	7


Q.5: - 

Verify that Mode = 3 Median – 2 Mean for the following series. 


(10)
	Marks 
	0-5
	5-10
	10-15
	15-20
	20-25
	25-30
	30-35

	No of students 
	3
	15
	12
	18
	25
	07
	20
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